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BEANRE

FHAEERBECETHBEFBERRIAL Y —RER FENRRERFERRAES

% m 3% - KR 5 Bt # B f & @ i
CE 10, 529, 402
RSB D mEBEART AL F—RBRIMN 10, 529, 402
SRIRSAR ARG LS
BEBE TR F—RERMERRSRE 10, 529, 402
R
it - BE 10,311, 640
FHEER 386, 800
1 EEE 1.00 386, 800 386, 800
=
aRERE 471,600
2 FERAREICHY S FHROMEEE 1.00 238, 800 238, 800
=
3 KRBT — 2 FONERE 1.00 238, 800 238, 800
=
BREHO TR IEORE 1,371,200
4 RIFZEDBMAERVREOREE 1.00 695, 800 695, 800
=
5 BAMBROMA - REORE 1.00 675. 400 675. 400
=
B ORE 2,464,950
6 AHLORE 1.00 2,464,950 2,464,950
=
B OBNEIEE DR 4,388,590
T ENRREEORE 1.00 130, 600 130, 600
=
8 SAHETI DR 4.00 37, 680 150, 720
fr—2
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9 HEDEI 12.00 8,400 100, 800
r—2
10 HERREORE 12.00 17,160 205,920
r—2
11 EERROIE 1.00 629, 400 629, 400
=
12 KA, B 9.00 169, 100 1,521,900
r—2
13 BHNBEEOFE 9.00 21,700 249,300
r—2
14 MEERECE O BEt 1.00 1,399, 950 1,399, 950
e
BHEETULY 285, 200
15 E7ULIRE 2.00 142, 600 285, 200
AT
ks 139,100
16 & 1.00 139, 100 139, 100
=
il - s 396, 300
17 HH 1.00 109, 800 109, 800
=
18 SRR 1.00 109, 800 109, 800
=
19 R 1.00 176,700 176,700
=
P2 401, 900
20 WEEMR 1.00 401, 900 401,900
=




WERRE SR BN DB AT AL ¥ — R R RS RS TR AR R 275

E#EEE 217,762
EHRARE 97,762
21 EBRAGRE 1.00 97,762 97,762

=
S 120, 000
22 XBHRER 1.00 120, 000 120, 000
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% # 1B - MR B Y 8 B ff & # =
BRI 10,311,640 + 217,762 10, 529, 402
EEAGE 10, 311, 640
EERE 217,762
T DR 10,311,640 x 53.85% ( 35% + (1 — 35%) ) 5,552, 818
RHRIE 10,529, 402 + 5,552,818 16, 082, 220
—REERF 16,082,220 x 53.85% ( 35% + (1 — 35%) ) — 2,495 8, 657, 780
e T 16,082, 220 + 8, 657, 780 24, 740, 000
HERSELE 24,740,000 x 10.00% 2, 474,000
EBEAN 24,740,000 + 2,474,000 27, 214, 000
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&5 :1
%5 FHE R 14y
2 b g - BIRTE By H = B ® " =
HEnE
A 1.00 66, 900. 00 66, 900
EXE3 1016 H))
A 1.50 58, 600. 00 87,900
HER (A)
A 2.50 51, 200. 00 128, 000
HEm (B)
A 2.50 41, 600. 00 104, 000
& Hi 1EEREH 1,00 386, 800. 00 386, 800
&5 :2
£ ELRAREICET HEROIEEE 14y
2 b g - BIRTE By H = B ® " =
e (A)
A 1.50 51, 200. 00 76, 800
BEm (B)
A 2.50 41, 600. 00 104, 000
Hitt&
A 2.00 29, 000. 00 58, 000
& B 1E¥REH 1,00 238, 800. 00 238, 800
F5:3
&2 BRBAT—2ZFONERE 14y
2 b g - BIRTE By H = B ® " =
HER (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 2.50 41, 600. 00 104, 000
Hift&
A 2.00 29, 000. 00 58, 000
& B 1EEREH 1,00 238, 800. 00 238, 800
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BS54
2 RIGBEOEBMMERUVFREDER 1%
2 b g - BIRTE By H = B ® &
EXE3 1016 H))
A 2.50 58, 600. 00 146, 500
e (A)
A 3.50 51, 200. 00 179, 200
HEm (B)
A 4.00 41, 600. 00 166, 400
HER (C)
A 4.00 32, 800. 00 131, 200
Hit g
A 2.50 29, 000. 00 72, 500
& B 1EEREH 1,00 695, 800. 00 695, 800
E5:5
BFF  BEEBROERE - RIEORE 1%
2 b g - BIRTE By H = B ® &
HEnE
A 1.00 66, 900. 00 66, 900
EXE3 1016 H))
A 2.50 58, 600. 00 146, 500
HER (A)
A 4.00 51, 200. 00 204, 800
HEm (B)
A 5.00 41, 600. 00 208, 000
HER (C)
A 1.50 32, 800. 00 49, 200
& Hi 1EZREH 1,00 675, 400. 00 675, 400
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ES5:6
2 IEfth R 1%
2 b g - BIRTE By H = B ® " =
HEnE
A 4.50 66, 900. 00 301, 050
EXE3 1016 H))
A 4.50 58, 600. 00 263, 700
HER (A)
A 16. 50 51, 200. 00 844, 800
HEm (B)
A 15. 00 41, 600. 00 624, 000
HER (C)
A 10. 50 32, 800. 00 344, 400
Hit g
A 3.00 29, 000. 00 87,000
& B 1EEREH 1,00 2,464, 950. 00 2,464, 950
&5:17
2F B KBREHFORTE 14y
2 b g - BIRTE By H = B ® " =
EXE3 1016 H))
A 1.00 58, 600. 00 58, 600
HER (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 0.50 41, 600. 00 20, 800
& Hi 1EZREH 1,00 130, 600. 00 130, 600
5:8
W SHHEETILOMER 1r—224Y
2 b g - BIRTE By H = B ® " =
HER (A)
A 0.30 51, 200. 00 15, 360
HEm (B)
A 0.30 41, 600. 00 12,480
HER (C)
A 0.30 32, 800. 00 9, 840
& Hi {E¥5EH  1.00—X 37, 680. 00 37, 680
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=:9
&% SFEOER 17—y
2 b g - BIRTE By H = i ) " =
e (A)
A 0.10 51, 200. 00 5,120
HER (C)
A 0.10 32, 800. 00 3,280
& Hi YEZEREN : 1.005—R 8, 400. 00 8, 400
&5 :10
&% STERROER 17—y
2 b g - BIRTE By H = i ) " =
EXe3 116 H))
A 0.10 58, 600. 00 5, 860
e (A)
A 0.10 51, 200. 00 5,120
HER (C)
A 0.10 32, 800. 00 3,280
Hitt&
A 0.10 29, 000. 00 2,900
& B YEZEREN : 1.005—R 17, 160. 00 17,160
&S 11
ZFF BERKOILE 1%
2 b g - BIRTE By H = i ) " =
EXE3 1016 H))
A 3.00 58, 600. 00 175, 800
HER (A)
A 4.50 51, 200. 00 230, 400
e (B)
A 3.00 41, 600. 00 124, 800
HER (C)
A 3.00 32, 800. 00 98, 400
& Hi 1EEREH 1,00 629, 400. 00 629, 400
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&E5:12
&1 KRRE. BILEE 1r—224Y
2 b g - BIRTE B H = B ) " =
e (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 41, 600. 00 41, 600
HER (C)
A 1.00 32, 800. 00 32,800
Hitt&
A 1.50 29, 000. 00 43, 500
& B YEZEREN : 1.005—R 169, 100. 00 169, 100
&5 :13
¥ BNEIEE G 1r—224Y
2 b g - BIRTE = v H = B ) " =
EXE3 1016 H))
A 0.10 58, 600. 00 5, 860
e (A)
A 0.20 51, 200. 00 10, 240
HEm (B)
A 0.20 41, 600. 00 8,320
HER (C)
A 0.10 32, 800. 00 3,280
& Hi YEZEREN : 1.005—R 217,700. 00 217,700
&S5 :14
¥ MEERELE DT 1%
2 b g - BIRTE B H = B ) " =
HEnE
A 4.50 66, 900. 00 301, 050
EXE3 1016 H))
A 4.50 58, 600. 00 263, 700
HER (A)
A 9.00 51, 200. 00 460, 800
HEm (B)
A 9.00 41, 600. 00 374, 400
& Hi 1E¥REH 1,00 1, 399, 950. 00 1,399, 950
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&S .15
&% E7VUIHAE ERER,
2 b g - BIRTE B H = B i % " =
EXE3 1016 H))
A 1.00 58, 600. 00 58, 600
e (A)
A 1.00 51, 200. 00 51,200
HER (C)
A 1.00 32, 800. 00 32,800
& Hi 1EZREDH 1. 00 FRr 142, 600. 00 142, 600
&= .16
2 BE 15ty
2 b g - BIRTE = v H = B i - " =
EXe3 1016 H))
A 1.50 58, 600. 00 87,900
e (A)
A 1.00 51, 200. 00 51,200
& Hi 1E¥REH 1,00 139, 100. 00 139, 100
&= .17
¥ . BATGE 1EHY
2 b g - BIRTE B H = B i L] " =
EXE3 1016 H))
A 1.00 58, 600. 00 58, 600
HER (A)
A 1.00 51, 200. 00 51,200
& Hi 1EZAER - 1.00[E 109, 800. 00 109, 800
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&= .18
2 PRERE 1EHY
2 b g - BIRTE BA{T H = B i ® " =
EXE3 1016 H))
A 1.00 58, 600. 00 58, 600
e (A)
A 1.00 51, 200. 00 51,200
& Hi 1YEZAES - 1.00[E 109, 800. 00 109, 800
=19
£ RERBE 1EHY
2 b g - BIRTE BA{T H = B i ® " =
HEnE
A 1.00 66, 900. 00 66, 900
EXe3 1016 H))
A 1.00 58, 600. 00 58, 600
e (A)
A 1.00 51, 200. 00 51,200
& Hi 1EZRES - 1.00[E 176, 700. 00 176, 700
&S :2
2F  MESERK I
2 b g - BIRTE BA{T H = B i ® " =
EXE3 1016 H))
A 1.50 58, 600. 00 87,900
HER (A)
A 2.50 51, 200. 00 128, 000
e (B)
A 2.50 41, 600. 00 104, 000
HER (C)
A 2.50 32, 800. 00 82,000
& Hi 1EZREH 1,00 401, 900. 00 401, 900
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&S 21
&% EHARE I
2 b g - BIRTE BA{T H = B i % " =
EXRARE
= 1.00 97, 762.00 97,762
& Hi 1E¥REH - 1.00K 97, 762.00 97,762
ES .22
2F EBRRA I
2 b g - BIRTE BA{T H = B i - " =
EBBRERERE
= 1.00 120, 000. 00 120, 000
& Hi 1E¥REH 1,00 120, 000. 00 120, 000




